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*  Eif 5400; 4190:1210:300i150; 65 ; 15 70 20 i 25 i 30 : 40 ; 20 65 40 ; 70 25 ; 20 i 40 i 20 } 60
AR At 3670; 2460:1210:300:150: 65 i 15 70 : 20 i 25 i 30 : 40 : 20 i 65 ; 40 ; 70 : 25 : 20 i 40 i 20 } 60

PR HT FRIXE 4 143008 200 108 10 1 P2 i1 1 1 1 1
a5 (i) HT FRXE 4 14500 208 108 10 P4 P2 i1 11
FHIEE () T FRX: 4 4500 15 5: 10 i 4 i 2 1 1 1
OB (fE) T FRIX: 4 §4500 30 20i 10 i1 i 2 i1 11 1 i1
g (five) T FRIXE 4 150008 208 10i 10 4 i 2 1 1i14i1
e HT FRX! 4 15000 10 5 5 P 1 i1 i1 1 1
e 5 R nye) T FRX: 4 $4500% 160i 90 70 2212 4 4 i14i3 4 i2i3i65 i1 i1i1i14il 2
YyE (i) L FREX: 4 $4500F 110; 40i 70 i25i 5 i 6 5i3 i3 3i2i4i13:24%3 2 31
5 (idE) T FRX: 4 :4500F 100; 75i 25 :15% 2 1 11131 1 1 i1
Ak 2 HT FRXE 4 14500F 1008 40 60 P10 5 i 5 8 i41i2 8i1i5 i1 i1 i2i1 2 2 i1
A () HT FRX: 4 4500 90i 40 50 i 8 i 8 i 3 5:i2 i3 3i2i2i1i2i1i1i1+1 2 i1
HhEE R () T FRIX: 4 §4500 30 20; 10 i 5 i 2 1 1
ANCHIR S 2 %) T FRXE 4 14500 15 5: 10 1 4 i1 1 1 i1
By EERESHA T FRIXE 4 14500F 1058 40 65 4 i 5 i 5 51215 5i3is5i4i2i2i2i112 5 6
WE TR T FRIX: 4 14500 55i 20i 35 i 2 i3 il 311 i1 5i2i3i2i2i2il1ilil 2 3
HHEPBESHEA Ofije) (T FRIX: 4 §4500 55i 25i 30 i 2 i1 i3 3i1 i1 2 i1 i2i1i2i1i2i3i1 1§11
W 2% TF% T FRX: 4 i4500% 105 508 55 i 2 i 2 i 5 8 i1 i 2 2:2:i3:i8:i5:i1i1i3il 3i2% 3
it I 3 L FRIXE 4 14500 25 5: 20 i1 i 2 1 1i1 i1 8183818148141 1i1:§2
) 3 T FRIXE 4 14500 15 5: 10 81 i1 i1 181811 1 1 i1
BHEEHE (i) HT FRX: 4 4500 45; 258 20 i 2 i 3 i 3 2i2i2 1 i1 132
IR HT FRX: 4 14500 458 158 30 i 2 i 4 i3 3 i1 i1 ririririz2irinrinia
e HT HREIXE 4 14500 358 308 5 P2 i1 1
I 255 3 HT HREIXE 4 14500 150 10 5 i1 i1 1 1
TrEHE T AKX 4 i4500 10 5 5 i1 i1 1 1
wEHE (i) RECO ERXE 415000 708 35 35 5:i5 5 10 10
HerERFESEHE ME 00 FERKXE 4 §5000 30i  15i 15 5:i5 5
wHHE () RE G ERXE 45000 308 158 15 i 10i 5
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*  Eif 5400; 4190:1210:300:150: 65 ; 15 70 : 20 i 25 : 30 : 40 ; 20 i 65 40 i 70 i 25 i 20 ; 40 : 20 i 60 i 60 ; 25 i 30 i 20
HEAERSSEH WAy @) (ERXD 45000 10 5 5 15
55 pad FRXE 4 14300 85i 65f 20 i 2 i3 1 i1 2 1§ 181§ 1i4¢%°2 1
#E 7 (i) pad FRXE 4 £4500% 350 250 10 {2 i 3 i1 21
OB (fYE) Pl FRIX: 4 §4500 85; 65 20 i 4 i 3 i1 1 1 131 i1 §1:i1%2;31 1
FHIAE () X FRIX: 4 14500 45; 10i 35 i 18 % 2 i1 2 1 i1 1 i1 1§41 1
Y (i) pad FRXE 4 15000 60i 50i 10 i 5 i 1 1 1§ 1
e pad FRX: 4 5000 208 108 10 i 2 i1 11 1 2 i1 1
HhFR AR () pad FRX: 4 $4500% 130; 110; 20 i 5 § 2 11 1 2 1 1 5 i1
NCHIIR S 2 8k ik FRXE 4 14500 408 208 20 i 2 i3 11 1 1 i1 1i1 i1 i1 i4i 1
it Ui 3 pE FRIXE 4 14500 758 450 30 {141 2 1 i1 1 1 i1 1 1 4 i 2 1
)5 pad FRXP 4 i4500 408 20i 20 i 4 i 2 1i2 2 11 1i1i1:3 1
M3 582 (i) pad AREIX: 4 14300% 1608 120; 40 i 15 11 12 2 1i1i1 5 i1
BEBUAEE () i AREIX: 4 143003 1608 120i 40 i 18 i 4 1i2 1 2 i1 1 1i1i5:i2 1
=iHE pE s ARIXD 4 14500% 1308 115 15 i 10 1 1 1 1 1
Iop 2575 3 pE ARIXE 4 14500 40i 25 15 i 2 i 3 1 i1 1 3 1 1 1 i1
TR pad HREIX: 4 14500 458 20i 25 i 5 i 6 1i3 1 1i1i1:i1 1 2 i 2
Fib 2 pad AREIXE 4 14300 1108 80; 30 i 10: 6 1i2 1 2 i1 i1 i 1 2 i1 1
PUE & 0 (i) pad AREIXE 4 14300% 1608 1308 30 14 5 1 i1 2 1 1 1i3i1
FR GE R Ofive) F2ARCO IERKD 417000 50i 25 25 | 6 4 4 3 4 i 4
F R @RI OfifE) ARG PERKXD 47000 50 25 25 § 4 4 4 3 244
FkaE i) ZARCD ERXE 4 17000 40 40
SR (FmE ) i) (EARCO (FRIXE 4 70000 408 20 20 i 6 3 7 2 2
FEARZE GhiE 7 ) (fife) (RGO ERXD 4 17000 40  20i 20 i 6 i 2 7 3 2
PRI T ZARCD FERXD 4 7000 60;  30: 30 i 10 3 3 3 5:i3:i3
FHIAE () BB RRIXE 4 14500 240i 240
THHEAEE S HER B ERIXE 4 14500F 180 180
R BARER ERIXE 4 (4300 60i 60
Fib 2 BARER CERIXE 4 (4300 60i 60
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*  Eif 5400; 4190:1210:300:150: 65 ; 15 70 : 20 i 25 : 30 : 40 ; 20 i 65 40 i 70 i 25 i 20 ; 40 : 20 i 60 i 60 ; 25 i 30 i 20
TR BARER REIIXE 4 4500 60i 60

ERHAE At 1030: 1030
FEiE (ijE) ScEgEs FERIXE 2 15000F 1008 100
B AR () HLEE X 20 17000 308 30
HIRF SRS IFERXE 2017000 308 30
FARZ (i) SCHELEA ERXE 20 17000 308 30
PRI T SHLEE FERIXE 20 17000 30 30
e SR RECE OnE) e iR 20 145008 1108 110
) HLEE R 20 14500 60i 60
55 SCHZRE IFERXE 20 14300 60f 60
THRAURRE SRR Oife)  SCHgs R 20 14500 1108 110
FHIHAE HLEE FERXE 20 14500 60 60
PUE & 0 (i) SCHZES AKX 20 14300F  170; 170
BAEBUAHE SCHZE RIRIXE 20 14300 60i 60
i 52 SCHZEE RRRIXE 20 14300 60: 60
p 2% 3 SCHLEG REEXE 20 14500 60i 60
P SCHIZEE RIRIXE 20 14500 60i 60

HIRERD A& 700i 700
P pE s MRXE 3 15200% 100 100
S FH i pE MRXE 3 14000 80: 80
I FH 5T HT FZIX: 3 14000 208 20
B HE (i) HT FRZIX: 3 12600 60i 60
BORHE (i) ZARCO FERX: 3 6000 40 40
FEARHE (i) ZARCD FERXE 3 6000 60i 60
PEIEIRIH ZARCO MK 3 16000 408 40
FHIEE () ot ERIXE 3 12600% 180 180
THEHUR R ot FERIXE 3 152001 1208 120




